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Integration Practice

In Exercises 1 to 15 use the given substitution to find the antj- (In x)*
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(a) When k =5, =%, V(S):%ﬂ'(%)QJ:%w cm
(b) ;—L %,sow:%h
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The constant of proportionality is T

1:Vehenh=r5
1 r=1hin(a)or (b
5 a)or (b)
[V as a function of one variable
in (a) or (b)
1: OR
3 dr
dt
av
2: —
dt
< —2 > chain rule or product rule error
1: evaluation at h =5
[
1: shows ﬂ =k -area
dt
2 ! 1: identifies constant of
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units of cm® in (a) and m"'/ﬁr in (b)
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(a) The function fis increasing on [-3,-2] since
f/>0for -3<5z<-2.

(b) z=0and z=2
J! changes from decreasing to increasing at

z = 0 and from increasing to decreasing at

r=2

(¢) S0 =-2

Tangent line is y = —2x + 3.

1: correct units in (a) and (b)

[ 1 : interval

1 : reason

" 1:2=0and r=2only
| 1: justification

1 : equation
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